
‭Number System‬
‭I) Choose the correct option:‬

‭1) 1000 tens = _______‬

‭a) 100 thousand    b) 10 thousand        c) 1 thousand     d) 10 hundreds‬

‭2) Smallest five digit number is _______‬

‭a) 01000               b) 10000                  c) 11000             d) 10001‬

‭3) Largest five digit number having 3 in one’s place is  _______‬

‭a) 24,343              b) 24,537                 c) 24,533            d) 23,347‬

‭4) The difference between the place values of ‘5’ and ‘8’ in 78054 _______‬

‭a) 3000                 b) 3050                    c) 7000               d) 7050‬

‭5) Select the odd one out.‬

‭a) 10 tens             b) 100 tens               c) 1 hundred      d) 100 ones‬

‭6) Select the odd one out.‬

‭a) 10 tens             b) 100 tens               c) 1 hundred      d) 100 ones‬

‭7)Choose the correct arrangement of number of items in descending order.‬

‭a) DBCAE                       b) ABCED                  c) EACBD               d) DABCE‬

‭A‬ ‭B‬ ‭C‬ ‭D‬ ‭E‬

‭67,395‬ ‭Seventy-four thousand‬
‭two  hundred and‬
‭sixty-four‬

‭Seventy-four‬
‭thousand one‬
‭hundred and‬
‭eighty-eight‬

‭81,198‬ ‭59,222‬



‭8) 78,234 is 78200 when rounded off to the nearest _______.‬

‭a) Tens             b) Hundreds              c) Thousands      d) TenThousands‬

‭II) Fill the table(using underlined digits):‬

‭Number‬ ‭Face Value‬ ‭Place‬ ‭Place Value‬

‭45,6‬‭7‬‭8‬

‭52,‬‭0‬‭01‬

‭3‬‭6,890‬

‭III) Write the number name and expanded form for the given numbers:‬

‭a) 48,569‬

‭b) 60,034‬

‭IV) Complete the pattern:‬

‭a) 57,890; 67,890 ; 77,890 ;_________ ; ________; _________‬

‭b) 75,390; 75,380 ; 75,370 ;_________ ; ________; _________‬

‭c) 11,345; 12,345 ; 13,345 ;_________ ; ________; _________‬

‭V) Use the digits given in each row to form the smallest and largest possible‬
‭five-digit numbers. Use each digit only once in a number.‬

‭Digits‬ ‭Smallest number‬ ‭Largest number‬

‭6,3,9,7,4‬

‭8,2,0,5,1‬

‭VI) Round off to the given places :‬

‭Number‬ ‭Tens place‬ ‭Hundreds place‬ ‭Thousands place‬ ‭Tenthousand Places‬

‭54,891‬

‭15,423‬

‭VII) Write any three possible numbers that would be rounded off to 40,000.‬


